ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



ASSEMBLY WITH
THUMB SCREW
SHOWN

COVER PLATE

WASHER
(PF%E-ASSEMBLED)—\°
USB OR RJ PLUG WITH
OVER-MOULD SUPPLIED BY ?
CUSTOMER. SEE NOTE 1.

SPLIT GROMMET

REVISIONS

REV DESCRIPTION, ECN, EAR NO. DATE APP'D

D PRODUCT DRAWING (EAR 14357) MAR30/16 K.L.

E PRODUCT DRAWING (EAR 14357) JUN6/16 K.L.

MUSB, MUSBR, MRJ OR MRJR CONNECTOR
TO BE PURCHASED SEPARATELY. SEE NOTE 1.

BLIND/SEALED THREADED
HOLES RECOMMENDED
FOR CUSTOMER PANEL

RECEPTACLE CONNECTOR
PANEL SCREWS SUPPLIED
BY CUSTOMER

NOTES

1.

THIS HOOD IS SUITABLE FOR USE WITH AMPHENOL RUGGED MODULAR JACKS & USB SERIES A RECEPTACLES - AMPHENOL
SERIES MRJ, MRJR, MUSB-A & MUSBR-A (STANDARD PROFILE).

2. KIT CONTAINS ONE BOOT, ONE COVER PLATE, UP TO TWO SPLIT GROMMETS, ONE CABLE TIE, TWO SCREWS & TWO WASHERS.
SCREW SCREWS & WASHERS ARE SUPPLIED PRE-ASSEMBLED TO THE COVER PLATE. SCREWS WILL FLOAT & BE CAPTURED BY THE
COVER PLATE TO MINIMIZE LOSS OF PARTS DURING USE.
(PRE-ASSEMBLED)
3. THE HOOD CAN BE FIELD OR FACTORY ASSEMBLED OVER EXISTING STANDARD USB OR RJ PLUGS THAT ARE ALREADY
TERMINATED TO A CABLE. SEE DRAWING SHEET 3 FOR A SUGGESTED ASSEMBLY PROCEDURE. FOR IMPROVED SEALING
PERFORMANCE, THE USE OF A CABLE TIE GUN TO TIGHTEN THE CABLE TIE IS RECOMMENDED (EXAMPLE: PALADIN TOOLS CABLE
TIE GUN P/N 1828.1 WITH SETTING 1). THE ASSEMBLY PROCEDURE CAN BE ALTERED TO SUIT CUSTOMER PREFERENCES OR
REQUIREMENTS.
4. CUSTOMER PANEL REQUIRES TWO ADDITIONAL MOUNTING HOLES. THESE HOLES ARE RECOMMENDED TO BE BLIND/SEALED
HOLES SO THAT ENCLOSURE REMAINS SEALED. IN UNMATED CONDITION, RECEPTACLE MAINTAINS ENCLOSURE SEAL. IN MATED
CONDITION, BOOT ASSEMBLY ENSURES SEAL OF MATING INTERFACE AREA.
5. BOOT ACCORDION SECTION ALLOWS FLEXIBILITY FOR CABLE TIE LOCATION ALONG CABLE LENGTHWISE. THIS MAY BE
ORDERING CODE: MUSBR - AHD2 - X X1 XX NECESSARY TO SUIT EXTRA LONG PLUG OVER-MOULDS OR TO AVOID FERRITES MOULDED INTO THE CABLE. IF A MATING
SERIES. RUGGED USB RECEPTACLE & PANEL ARE NOT AVAILABLE DURING BOOT ASSEMBLY, THE ACCORDION SECTION ALSO ALLOWS FLEXIBILITY FOR
’ THE BOOT FLANGE LOCATION.
HOOD, BOOT STYLE 6. FLEXIBILITY OF BOOT PERMITS PLUG/RECEPTACLE INTERFACE TO BE UNMATED & RE-MATED WITHOUT DIS-ASSEMBLY OR
SCREW, THREAD & BOOT OPTIONS REMOVAL OF THE PLUG HOOD. THIS FEATURE SIMPLIFIES EQUIPMENT TEST & DIAGNOSTICS IN FIELD SERVICE APPLICATIONS.
2 = SCREW - #4-40 UNC THREAD, BLACK BOOT
3 = THUMB SCREW - #4-40 UNC THREAD, BLACK BOOT 7. MATERIAL: ALL MATERIALS ARE RoHS COMPLIANT PER EU DIRECTIVE 2011/65/EU & AMENDMENTS
7 = SCREW - #4-40 UNC THREAD, TRANSLUCENT BOOT « BOOT: FLEXIBLE RUBBER, BLACK & TRANSLUCENT OPTIONS
8 = THUMB SCREW - #4-40 UNC THREAD, TRANSLUCENT BOOT «  COVER PLATE: THERMOPLASTIC POLYESTER OR NYLON, GLASS REINFORCED, BLACK
L = SCREW - M3 x 0.5 THREAD, BLACK BOOT « HARDWARE: STAINLESS STEEL
M = THUMB SCREW - M3 x 0.5 THREAD, BLACK BOOT + CABLE TIE: NYLON, BLACK
S = SCREW - M3 x 0.5 THREAD, TRANSLUCENT BOOT «  GROMMET: SILICONE RUBBER, BLACK
T = THUMB SCREW - M3 x 0.5 THREAD, TRANSLUCENT BOOT
8. GROMMET CODE 21 (4.50[.177]1.D.) IS SUITABLE FOR CABLES UP TO 4.50 [.177] OUTSIDE JACKET DIAMETER. GROMMET CODE 31
GROMMET OPTION (6.40 [.252] I.D.) IS SUITABLE FOR CABLES BETWEEN 4.50 [.177] & 6.50 [.256] OUTSIDE JACKET DIAMETER. LARGER DIAMETER CABLES
01 = NO GROMMET DO NOT REQUIRE A GROMMET.
21 =4.50[.177] INSIDE DIAMETER GROMMET
31 =6.40 [.252] INSIDE DIAMETER GROMMET 9. TO ORDER CABLE TIES SEPARATELY, SPECIFY P/N MUSBR-2AHD-501BP.
41 = WITH BOTH 4.50 [.177] & 6.40 [.252] GROMMETS
10. OPERATING TEMPERATURE -55°C TO +105°C.
PACKAGING OPTIONS
BP = gxgéES%@%%&A?%E?II\‘NEQXETON UNLESS SPECIFIED OTHERWISE | DRAWN B.COPPING | DEC5/14 Amphe nol Cana da COlp.
SK = SINGLE KIT. COMPONENTS FOR EACH PRIMARY UNITS MILLIMETERS | CHECKED K.LAMBIE | DEC5/14 www.amphenolcanada.com
SECONDARY INCHES [M.E. APP'D
HOOD IN SlNGLE BAG REFERENCE IN PARENTHESES [Q.A. APP'D MUSBR HOOD FOR USB OR RJ PLUG’
— BOOT STYLE DESIGN, FOR SEALING
STANDARD PART NUMBER - MUSBR-AHD2-241SK FOR STOCK IN DISTRIBUTION GENERAL TOLERANCES DWG_APPR. MATING INTERFACE RE)HS COMPLIANT
CONSULT WITH AMPHENOL CANADA FOR OTHER OPTIONS OR SPECIAL REQUESTS. 1 DECIMAL PLACE ENG. REL. NO. EAR 14327 ’
2 DECIMAL PLACES REF. DWG.  NO. REV
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION MAY NOT BE DISCLOSED TO OTHERS FOR |3 DECIMAL PLACES LRY 1.5] POAY P-MUSBR-AHD2-XX1XX E
ANY PURPOSE OR USED FOR MANUFACTURING PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. |ANGULAR DEGREES PROJECTION DRAWING [ CODE 1D NO. 03554 [DWG SIZE: X | SCALE: 21 | SHEET 1 OF 3
A | B | c | D | E F | G | H




A B c D E F G H
REVISIONS
REV DESCRIPTION, ECN, EAR NO. DATE APP'D
D PRODUCT DRAWING (EAR 14357) MAR30/16 | KL.
?11.60 86.29 E PRODUCT DRAWING (EAR 14357) JUNG6/16 KL
WILL STRETCH : 0.70 16.20
OVER PLUG [315] [.028] = [638] £8.00
I Boot ' [ 236]
FLANGE CLEARANCE FOR
HEAD OF RECEPTACLE
i e PANEL SCREW
— Lo [N i
25.00  9.00 B ﬁx __/ 14.20
[.984] [.354] LT — \\ O // [.559]
! | o
L ) :
15.60
CABLE TIE AREA [.614] 27.00
SEE ORDERING CODE [1.063]
FOR GROMMET OPTIONS ’
ACCORDION
SECTION 40.00 -
[1.575]
SCREW IN FORWARD 4.25
POSITION — [167] 1520 4.25
: [.598] ‘l [.167]
©15.00 . - :
. C
i
_
PULL TABS |
d ‘I 4
17.60 | |
N
[.693] #4-40 OR M3 THREAD )
77.59 SCREW
' [3.055] SEE ORDERING CODE #4-40 OR M3 THREAD
THUMB SCREW
SEE ORDERING CODE —
27.00
[1.063] 4-40 OR M3 THREAD
R1.38 5.00 [.197] THREAD DEPTH VIEW WITH THUMB
[054] 16.55 IN'BLIND HOLE, 2 PLCS SCREWS SHOWN
: .652
4PLCS \ [ 652] COVER PLATE g
9.00 . L 1A \/PROFILE
[.354] / .
3 A
2 PLCS 4'_{]} &
i ! | 1455
I % I [.573] —
. -é_ . Vi -6?— |
4.50 !
[_177] AN 7 UNLESS SPECIFIED OTHERWISE | DRAWN B.COPPING | DEC5/14 Amphe nol Canada COlp.
TvP T - $3.25+0.08 PRIMARY UNITS MILLIMETERS | CHECKED K.LAMBIE | DEC5/14 www.amphenolcanada.com
24.00 128+.003 SECONDARY INCHES [M.E. APP'D
[_945] [ 2 PLCS ] REFERENCE IN PARENTHESES |Q.A. APP'D MUSBR HOOD FOR USB OR RJ PLUG, 6
EnEe Toimmces Towe e BOOT STYLE DESIGN, FOR SEALING
RECOMMENDED PANEL CUTOUT 1 DECIMAL PLACE fG RiL o EARIART MATING INTERFACE, RoHS COMPLIANT
OUTSIDE PANEL VIEW 5 DECIMAL PLACES — DWG— O REV
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH_INFORMATION MAY NOT BE DISCLOSED TO OTHERS FOR |3 DECIMAL PLACES AR @ 1.5] POAYT P-MUSBR-AHD2-XX1XX E
ANY PURPOSE OR USED FOR MANUFACTURING PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. |.ycuiar bEGREES PROJECTION DRAWING [ CODE 1D NO. 03554 [DWG SIZE: X | SCALE: 21 | SHEET 2 OF 3
A I B I c I D I E F I G I H



A B C D E | F G H

REVISIONS

REV DESCRIPTION, ECN, EAR NO. DATE APP'D
D PRODUCT DRAWING (EAR 14357) MAR30/16 K.L.
E PRODUCT DRAWING (EAR 14357) JUN6/16 K.L.

USE PULL TABS TO PULL

PULL BOOT THROUGH BOOT OVER PLUG.
COVER PLATE.

BLIND OR SEALED
COVEGRR%S\-EE THREADED HOLES

STEP 7
OPEN GROMMET ALONG SPLIT LINE,
PLACE OVER PLUG CABLE & SLIDE
INTO POSITION BETWEEN BOOT RIBS

CUSTOMER PANEL
WITH INSTALLED

RECEPTACLE
STEP 2 ALIGN PERIMETER CABLE TIE
CONTINUE TO PULL BOOT OF BOOT & COVER SECURE USING
UNTIL BOOT FLANGE ALMOST CABLE TIE GUN
TOUCHES COVER PLATE. MATE PLUG INTO GPROOSI\IIITI\LI?E"\I"
RECEPTACLE. CENTRAL TO

BOOT RIBS

SECURE CABLE TIE IN
MIDDLE OF BOOT RIBS.

gy euEE e
INSElll:\‘l-'[l-'(';I:I'UHCI% FI;%)%[}ALLY SLIDE HOOD UP TO PANEL & TOOLS P/N 1828.1
' SECURE HOOD SCREWS WITH SETTING #1)

UNLESS SPECIFIED OTHERWISE [ DRAWN B.COPPING | DEC5/14 Amphenol Canada COlp.
PRIMARY UNITS MILLIMETERS | CHECKED K.LAMBIE | DEC5/14 www.amphenolcanada.com

SECONDARY INCHES | M.E. APP'D
FIELD ASSEMBLY PROCEDURE e s b BOOT STVLE DESIGN, FOR SEALING

MATING INTERFACE, RoHS COMPLIANT

1 DECIMAL PLACE ENG. REL. NO. EAR 14327

2 DECIMAL PLACES REF. DWG. NO. REV
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION MAY NOT BE DISCLOSED TO OTHERS FOR |3 DECIMAL PLACES THIRD Dg_NoT P-MUSBR-AHD2-XX1XX E
ANY PURPOSE OR USED FOR MANUFACTURING PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. |ANGULAR DEGREES PR eoN oRsaiiic [ConE 1 0. 03554 [owe 5176 X | SCALe 2 | ST 3 oF 3

A I B I c I D I E F I G I H




	Contact us

